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[Question ID = 408][Question Description = 198_200_ARA_SEP22_S2_Q98]

) Daallall Cpal) ae el (e 7 A
[Option ID = 1629]

2. (;lhv.'l'l aaladll e d.laa.g
[Option ID = 1630]

3 il dhles  Silally (685 pa 350
[Option ID = 1631]

¢ L) Jlaa 3 Js

[Option ID = 1632]
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[Question ID = 409][Question Description = 199_200_ARA_SEP22_S2_Q99]
RS T O O P53
[Option ID = 1633]
2 S Aallall ol pe sl e gl
[Option ID = 1634]
Ayl e all sl aoe
[Option ID = 1635]
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[Option ID = 1636]
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[Question ID = 410][Question Description = 200_200_ARA_SEP22_S2_Q100]

Ayl laal) (yaglga

[Option ID = 1637]
2 oAl ¥ 8 ailel 3

[Option ID = 1638]

[Option ID = 1639]

el e Wil e ) dagill Sl 7

[Option ID = 1640]

Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartA

1)



Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was ¥
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |

Entertainment 11% 9%

Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgoiferRaa sterior ol Al A Ue 3R f$u 3w yoil @& 3w &

forgaiferRaa aiferot uR earat Gifsie, SRl ad 2020 3iiz 2021 @ Sikrat ffteol deic 9ofiul UR v ufrar & uwlRaiRe =R & Yferord faarur o1
ferazur & s @ ad 2020 siiz 2021 31 531 ul¥ar &i aet 31 arer: ¥50000 siiz ¥75000 i 321 arferat @ siiws] @ sneR W ofid fdu st

aiT gosil B IR Sifsre

XRRI &l geic oY - ar faazur

adf —
2020 2021
oic ofid|
FolISTol 11 % 9 %
Farea 5 % 6 %
axq 25 % 25 %
afisTol 19 % 21%
AT 34 % 24 %
3o 6 % 15 %

What was the total amount spent on food in 20207?
aef 2020 3 sisiol U= et ool At @1 =1 e sRin e ?

[Question ID = 10810][Question Description = 101_00_GP2_SEP22_S2_Q01]
1. 9000

[Option ID = 13237]
2. 9500

[Option ID = 13238]
3. 10000

[Option ID = 13239]
4. 10500



[Option ID = 13240]

2) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

fractferR3ad srerior @ Arasmell A ud 3iiz 0y o180 gl & Iz

forgaiferRaa arferet uz et difsre, Sl ad 2020 3iiz 2021 & et fafireot gsic ofiuf Uz v uftar & wf¥aif¥es =r1 & yferora faazor ot
foraeur fom srRr & adf 2020 3iiz 2021 3 591 uf¥ar & get a1 agrer: 50000 siiz 75000 off 521 anferast @ siidpst @ MeR WR ofld e ste
aid gosil @ Iar Sifsre

=RI oI goic oY - ar faazur

adf —
2020 2021

aoic ofid|
FolITSIol 11 % 9 %
AR 5% 6 %
] 25% 25 %
afisTol 19 % 21%
AT 34 % 24 %
A 6 % 15 %

For which of the following budget heads did the family spend more amount of money in 2021 than they spent in 2020?
A. Health

B. Clothing

C. Travel

Choose the correct answers from options given below:

forgorferRaa & A aeic B Rpor ofief 3 531 uf¥ar & 2020 3 Rpv s1e <Rx &1 geton 3 2021 3 siftrd =R P ?
A. Farea

B. a@=qq

C. arqgn

ofia féu ore Rl 3 21 w1dl 3T? ®1 I HIRKA :

[Question ID = 10811][Question Description = 102_00_GP2_SEP22_S2_Q02]
1. Aonly
Dact A



[Option ID = 13241]
2. Bonly

daet B

[Option ID = 13242]
3. Aand B only

@act A sz B

[Option ID = 13243]
4, A,BandC
A, B3z C

[Option ID = 13244]

3) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and ¥ 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |
Entertainment 11% 9%
Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgotferRae sterior ool Araesit A ue 3z Xu are gl @ 3a2 ¢

forsaiferRaa arferet ur earat difsie, Sl ad 2020 3z 2021 & Sierat fafteot seic ofiuf Uz v ufrar & uwl¥ail¥e =r1 & yferora faaor @1
forazor & s  adf 2020 3iiz 2021 3 531 uf¥ar & gger s agorer: 50000 3iiz ¥75000 eft 521 anferast @ stiaps] @ smen: uR ofid 3w st

aid gesll @ 3R Sifsre

XRRI @l goic ofid - ar faazur

adf —
2020 2021

oic ofid|
FolISTo 1% 9 %
AR 5% 6 %
ax 25% 25%
afisTol 19 % 21%
AT 34 % 24 %
3 6 % 15 %

What is the increase in the amount of money spent on the health budget head from 2020 to 2021?

FarRed @ osic ot uz 2020 3i =R1 &Y 318 A1 Y detont 3 2021 I feperofl fdr oY gis 5 ?

[Question ID = 10812][Question Description = 103_00_GP2_SEP22_S2_Q03]
1500 [Option ID = 13245]
% 2000 [Option ID = 13246]
% 2500 [Option ID = 13247]
1750 [Option ID = 13248]

A W N -



4) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |

Entertainment 11% 9%

Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgotferR3ad sterior o Aratmell A ud 3iiz 0w o190 gl & Iaz &

forsaiferRaa arferet Uz earat difsie, el ad 2020 3iiz 2021 & Sierat fafteol ssic ofiuf Uz v uftar & uwlail¥e =r1 & yferor faaur @1
farazor f&am s  adf 2020 siiz 2021 3 531 uf¥ar & gger 3 agerer: 50000 3iiz ¥75000 oft 321 arferat @ sl @ smen? uR ofid 3w st

i yesil & IR S

RRI DI goic iy - ar faazur

adf —
2020 2021

woic ofid|
FolITsiol 11 % 9 %
AR 5% 6 %
ax 25% 25%
afisTol 19 % 21%
AT 34 % 24 %
3T 6 % 15 %

What is the ratio of total amount spent on Travel by the family in 2020 to that in 2021?

331 uf¥ar grR1 2021 51 getent 3 2020 3 A1y UR RRI oY 31 G3et A1 BT 3IGJUId Rl & ?

[Question ID = 10813][Question Description = 104_00_GP2_SEP22_S2_Q04]

1. 16 : 17 [Option ID = 13249]
2. 18 : 17 [Option ID = 13250]
3. 17 : 18 [Option ID = 13251]
4. 17 : 16 [Option ID = 13252]

5) Passage

Consider the following table that presents the details about the percentage distribution of household expenditure of a family
on various budget heads during the years 2020 and 2021. The total income of the family in the years 2020 and 2021 was X
50000 and X 75000, respectively. Based on the data in the table, answer the five questions that follow:

Budget Head wise Distribution of Expenditure

Yearo
2020 2021
Budget Head |




Entertainment 11% 9%

Health 5% 6%
Clothing 25% 25%
Food 19% 21%
Travel 34% 24%
Others 6% 15%

forgotferRaa sterior ool Araemsit A ue 3z fXu are gl @ 3a2 ¢

forsaiferRaa aiferet R earat difsie, SRl ad 2020 3z 2021 @ Sieral fafteol seic ofiuf Uz v uftar & ulRailRe =r1 & yferor faarur @t
ferazur & s @ ad 2020 siik 2021 3 51 uf¥ar &l aget 3mr=r aggrer: ¥50000 3iiz ¥75000 efif 321 arferat @ sfiws] @ MR WR ofid fdu st
aid ggsll @ 3= Sifsre

XRRI @l geic 9fid - ar faazur

adf —
2020 2021

oic ofid|
FolTSTol 11 % 9 %
AR 5% 6 %
ax 25% 25%
afisTol 19 % 21%
AT 34 % 24 %
e 6 % 15 %

What is the difference in the amount of money spent on Entertainment and Food together during the years 2020 and 2021?
adf 2020 3iiz 2021 @ Sizrol HellZslol 3ii2 Mistel UR ficiiab? by 318 =Rr o5t Afd1 o 3ick o & ?

[Question ID = 10814][Question Description = 105_00_GP2_SEP22_S2_Q05]
% 6500 [Option ID = 13253]
% 7000 [Option ID = 13254]
% 7500 [Option ID = 13255]
% 8000 [Option ID = 13256]

A W N -

Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartB

1) Which of the following need to be inculcated for developing 215t century skills of students by a teacher?
A. Creativity

B. Rote-learning

C. Critical thinking

D. Life-long learning

E. Learning only for examination

Choose the correct answer from the options given below:

fep2it fArgr IRt ferenfRRil 3f 214t a1t @ Diere fawra @ ferg forarferRaa 3 3 o o= g6RisTa dIdrel B MaADT & ?
A. JSTollcaAdar

B. 3con

C. sircieicd® Riodol

D. Sitaerazia sif2erer

E. daer udign & e siffemr



il feu are fraveul 3 3 8l 302 ol :
[Question ID = 10815][Question Description = 106_00_GP2_SEP22_S2_QO06]

1.

A and C only
et A 3iiz C

[Option ID = 13257]

. Band E only

et B iz E
[Option ID = 13258]

. A, Cand D only

et A, C i D
[Option ID = 13259]

. A, Cand E only

et A, C ol E
[Option ID = 13260]

2) Which of the following is INCORRECT regarding CBCS?

2t <t 2ft v & e 3 foaferRaa 3 2 o= s1cra 3 ?

[Question ID = 10816][Question Description = 107_00_GP2_SEP22_S2_QO07]

1.

CBCS is a framework to provide choices for electives and optionals to students.
2t ot 2ft vt faenffel ot Yewd iz ddfcud Rl o1 ey Ygiol w20l @ v DRt siar 3

[Option ID = 13261]

. CBCS can be implemented only through online programmes.

3t oft 2ft vt @t Dact sifolctsor BrRIGH B Frere A drRIifoaa e s Adar 3

[Option ID = 13262]

. MOOCs can be used to provide choices for CBCS by institutions.

Jizereil gt 2 € 3t v @ e ey Sat 3q 3 (MOOC) @ geiter fdpen S Jfaber 8
[Option ID = 13263]

. Generic Electives and skill enhancement courses are provided under CBCS framework.

3t ot it vt orf B B siceld AeIe BRe® 3l Bl fABRI UGt Yglol e ST &

[Option ID = 13264]

3) Why should a student not be punished severely?

fop=ii fereneft &1 ®31 <3 =il ol Son anfdw ?

[Question ID = 10817][Question Description = 108_00_GP2_SEP22_S2_QO08]
1.

He/she may leave the institution and join another.
qg JiFerel BIsd? bt sieer et 3 yder e Jabdr/ Addl 3

[Option ID = 13265]

. He/she may quarrel with the teacher.

s forera A SEIST B2 Achel/ Abcdl 3

[Option ID = 13266]

. Parents of students may complain about the teacher.

feremeft & arrer-fire f1e1as <6t fOrPRIT B2 JAHT &

[Option ID = 13267]

. The student may develop a negative attitude towards his/her studies, teachers and institution.

fRremeff sruot sieRRIel, {91810 3l JAelTol D Yfel UD GIPRIAD ¢IRUI Joll Abdl/ Adedl 3

[Option ID = 13268]

4) What are OERs?

‘MER"wOS ?

[Question ID = 10818][Question Description = 109_00_GP2_SEP22_S2_Q09]
1.

Open Educational Resources
3iueT Gl Rk

[Option ID = 13269]

2. Open Examination Resources

3ol vasTidoreret R¥RiT
[Option ID = 13270]



3. Online e-learning Resources
3ifetetrsot § - cifolor ¥R

[Option ID = 13271]
4. Online Educational Resources
siforeTrsor Bgjdereiel fMier

[Option ID = 13272]

5) LMS is a software application used for the

uet ua oA forrotfeRad 3f 3 feparad fere gRilet ol Siral arcl FHiwedRR veeliddoret & ?

[Question ID = 10819][Question Description = 110_00_GP2_SEP22_S2_Q10]
1. Administration, documentation, tracking, reporting and delivery of educational courses
81T UIcRIcpd B/ Bt YoIRIel, GIASH®UI, ¢fdbsl, yZgridm3ur 3k Beffast

[Option ID = 13273]
2. Authentication, documentation, transfer, reporting and designing of educational courses
81T UIGRIA! BT SfAYHIIGT, SIASIDWI, (A, Ydiaur 32 sifdreuot

[Option ID = 13274]
3. Administration, documentation and depository of e-resources
$ - JRARIGI DI YIIRIol, GIAASID2UI 3iR forguBmR

[Option ID = 13275]
4. Authentication, reporting, analysis and depository of e-resources
$ - IRl @1 Iy, Ygdiaur, fecsunr sl foreumme

[Option ID = 13276]

6) Which of the following are true in the case of participatory observation method?
A. The apparently obvious incidents can be overlooked.

B. It is a good method to study the daily operations of organisations.

C. The decision-making process can be observed.

D. With this method, an organisation's social meaning can be studied.

E. One can pretend to be a natural member of the group.

Choose the correct answer from the options given below:

Feuph Ygmr ughl & amera 3 forafeRaa 3 31 dlet - ®lot a1 78 3 ?
A. Fucca: Fannfae acotrsil bt seredl &t s At 3

B. a5 JHs100il @ ot yacioll @ 31¢RIol @ fore Sa ugfr 3

C. forvfer cror bt yfdpem a1 Ygivr fosen Sir Amar 3

D. 31 ugfer A bt Fis1001 B ARSI 31ef BT 31eRIGT fobaT ST ADCr 3
E. @ 31p o1 Fapifde AR ol @I Rieasea? &2 Addr 3

ofid fou a1 el 3 A 8t a2 gl ¢

[Question ID = 10820][Question Description = 111_00_GP2_SEP22_S2_Q11]

1. A, Band Conly
Dact A, B siiz C

[Option ID = 13277]
2. B, Cand D only

@®act B, C sfiz D

[Option ID = 13278]
3. C,DandE only

@ac C, DR E

[Option ID = 13279]
4. A, BandE only



dact A, Bz E
[Option ID = 13280]

7) Given below are two statements
Statement I: For a small number of samples, the sampling distribution of means is approximately, a normal distribution.

Statement II: In case the population is normally distributed, the sampling distribution of means is also normally distributed,
even for a small number of samples.

In light of the above statements, choose the most appropriate answer from the options given below

off<l Gl @erel Ry s 3 :

D - | : gfergeft o5t wa Fizeen & ferg, aneil o1 yfercol vt cereieT Apie: fazur siar &

o - |l @ afe SRz ARie wu A fafed 8, di gl &1 oo e @ forw oft aeadt o1 gftgel frazur e wu A 3 fata srar 3
Suzfen werell & airciie 3, BroiRaa Riacdl 3 3 e S 302 gai :

[Question ID = 10821][Question Description = 112_00_GP2_SEP22_S2_Q12]
1. Both Statement | and Statement Il are correct
@eral | 32 || Sl 8t &

[Option ID = 13281]
2. Both Statement | and Statement Il are incorrect
@erol | 32 | Slail st &

[Option ID = 13282]
3. Statement | is correct but Statement Il is incorrect
@erol | A8 3, Afdvot @werot || srera 3

[Option ID = 13283]
4. Statement | is incorrect but Statement Il is correct
el | sTerd 3, Afdvol aweror || 21t 2

[Option ID = 13284]

8) Given below are two statements

Statement I: Codes of ethics are formulated to regulate the relations of researchers to the people and fields they intend to
study.

Statement II: All the risks involved in the study need not be explained to the participants in advance.

In light of the above statements, choose the most appropriate answer from the options given below

off<l Sl Derel fRu s 3 :

e - | 1 Siftre smaR Afdars oNeraafsiia clail siiz o1 31ERIel @ fore afdra Siq) A del o) Riorafdia w2 & fore doné st 3
Do - |l : srezrIer 3 onfiret 2sfl SRael @& ar 3 sl JTEPRIT B B WU A TATG ATARID o8l &

SWRfTD el B el 3, ProifeiRad fraedl 3 A TG IUYTD Ia= gol

[Question ID = 10822][Question Description = 113_00_GP2_SEP22_S2_Q13]

1. Both Statement | and Statement Il are correct
ool | 3R || Sreil 31t &

[Option ID = 13285]
2. Both Statement | and Statement Il are incorrect
weral | 3z |1 Slail steta &

[Option ID = 13286]
3. Statement | is correct but Statement Il is incorrect
Dol | 38t 3, cifdbar werer || steta 3

[Option ID = 13287]
4. Statement | is incorrect but Statement Il is correct
Dl | ateta &, cifcpor weret |l 31 3

[Option ID = 13288]

9) Given below are two statements



Statement I: The panel design influences the statistical analysis in research.
Statement Il: The panel design does not suffer from the issue of mortality.

In light of the above statements, choose the correct answer from the options given below

ofi &1 werer Ru sre 3 :

werol - | 2 Volet T sifirwcder (Ruirsor) oiter a AiRkcadir Redsuor o yafia waar 3
@2l - || : Sorer @1 f3snsat siforcarar & Je=IT A 3 odl alar &

IR PGl D 3MclID A, forrorferRaa fapeul 3 27 81 IR ol ©

[Question ID = 10823][Question Description = 114_00_GP2_SEP22_S2_Q14]
1. Both Statement | and Statement Il are true

e | 3z || gralt e &

[Option ID = 13289]
2. Both Statement | and Statement Il are false

@erol | 3z | Seil sRicer &

[Option ID = 13290]
3. Statement | is true but Statement Il is false

@erol | AT 3, Afdpor derat |1 3wt 3

[Option ID = 13291]
4. Statement | is false but Statement Il is true

Dl | 3RII 8, dlfdpor derat | 31t 3

[Option ID = 13292]

10) Which of the following are VALID reasons for 'Literature Review' in research?

A. It shows the present status of knowledge in the field of research so that the significance of the proposed research question
is clear.

B. It gives a correct context to the scope of the work proposed in the thesis.
C. It demonstrates the scholarliness of the thesis writer.
D. It fills the minimum page requirement for a thesis.

Choose the correct answer from the options given below:

forgorferRad 3 A ol - wlor A oter 3 " ¥y afien " B Jer PRI E ?

A. olie1 & &Xq i SIret b1 addarret Rafdr gorfn Sirelr aifte yRufae ofier goot @1 Ascd IUTC 8l ST
B. ofter - sfer 3 yraifaa orf @ SRR o1 A8l Fcs Jom

C. oier - 3jer A o1 Rigar o) yefia wwen

D. fop=ft oer - sfr @ ferg oot o1 oYoiaaat IS DI G BIol

offa fou sr1e fareseul 3 21 1Y 392 9ol :

[Question ID = 10824][Question Description = 115_00_GP2_SEP22_S2_Q15]
1. Aand B only
et A 3iiz B

[Option ID = 13293]
2. Cand D only
@act C iz D

[Option ID = 13294]
3. Aand Conly
@act A siiz C

[Option ID = 13295]
4. Band D only



et B stz D
[Option ID = 13296]

11) According to the stimulus-response model, all communication is a/an process.
3ol - IroIfepR gfeRey & SeRIR Msfl i uss __ yfeprn 3
[Question ID = 10825][Question Description = 116_00_GP2_SEP22_S2_Q16]
1. Collective
AHED
[Option ID = 13297]
2. Individual
Jafepd

[Option ID = 13298]
3. Impersonal
3R - FAfpd

[Option ID = 13299]
4. Massive
SifeIorRT

[Option ID = 13300]

12) Given below are two statements
Statement I: In communication, language involves different degrees of identification for generalisation.

Statement II: Abstraction is described as a process of leaving out details and for effective communication, an awareness of the
details left out is necessary.

In light of the above statements, choose the most appropriate answer from the options given below

ofi<I GI @erel iU a1 3 :
el - | : JTFQuUT 3 9rdT 3 ARIe=NB01 B e usdrel o1 f3eet A onfdret Bkt &

Do - |l : sEIfeiareu1 1 SIS 318 fazvr &1 v yfigrn @ 3w 3 quie fop=n strar 3 $iik gsragncl Feuul @ fere SIS 318 a1 &) Sielol & aR # SIPRedl
ATAAD 3

SR ereil @ el 3, forsiferRan fraseal 3 31 AT UMD 302 ol :
[Question ID = 10826][Question Description = 117_00_GP2_SEP22_S2_Q17]

1. Both Statement | and Statement Il are correct
@erot | 32 || Seit 218t &

[Option ID = 13301]
2. Both Statement | and Statement Il are incorrect
weral | 3z |1 Sloil arete &

[Option ID = 13302]
3. Statement | is correct but Statement Il is incorrect
Dol | 318t 3, ciftbar werer || sreta 3

[Option ID = 13303]
4. Statement | is incorrect but Statement Il is correct
Dol | steta &, cifcpor weret |l 31 3

[Option ID = 13304]

13) The disadvantages of Aristotle’'s model of communication are:
A. Weak encoding

B. Audience created content

C. One-way communication

D. Stress on the speaker

E. Ignorance of noise

Choose the correct answer from the options given below:



g @& FuvT gfersu I e 3
A. eIk faea
B. o g fera fararq

C. UBARBI AFYHUT
D. a1 uz 3R
E. 9r A smoifdrstar
il 3w a1 fyaseul 9 A W& 3R goi ¢
[Question ID = 10827][Question Description = 118_00_GP2_SEP22_S2_Q18]
1. Aand B only
et A 3k B

[Option ID = 13305]
2. BandConly

@act B sik C

[Option ID = 13306]
3. A, DandE only

daer A, D aie E

[Option ID = 13307]
4. C,DandE only

@act C, D iR E
[Option ID = 13308]

14) Given below are two statements
Statement I: Mediated communication flourishes in a free and democratic environment.
Statement Il: Power distortions always affect the flow of communication, whatever may be the political system.

In light of the above statements, choose the most appropriate answer from the options given below

off<l I @erel Ru s 3 :

@l - | : =afda FAFYuvI U Jb 3R cllpdifdd ardraRvr 3 Berdl-beldl 3

oot - |l : orftp Fdell frapfern A¢a AFYUUT B Fob Yars Bt Yerfad wxdl 3, et 8 Astoliicrs crazen o1f sfi a1
IWRfTD Dereil B rclid 3, PrreifciRad fraedl 3 A A IUYTD Ia= ol

[Question ID = 10828][Question Description = 119_00_GP2_SEP22_S2_Q19]

1. Both Statement | and Statement Il are correct
@erot | 32 | Slel 218t &

[Option ID = 13309]
2. Both Statement | and Statement Il are incorrect
@erol | 3z || Slail st &

[Option ID = 13310]
3. Statement | is correct but Statement Il is incorrect
@werol | A8 8, Afdvor dwerof || srera 3

[Option ID = 13311]
4. Statement | is incorrect but Statement Il is correct
el | sTetd 3, Afdbol weror || 21t 2

[Option ID = 13312]

15) Match List | with List Il

List | List Il

Type of Communication Example

A. Intra-personal |. Face-to-face

B. Group communication Il. Satellite television
C. Transactional Ill. Meditation




D. Massive IV. Board meeting
Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifsre :

oxet -1 et -l

RISV B YBR SGIEUT

A. sicar - Suafepw |. 3mmarol - AT

B. 13z A3YHUT 1. Jrecrrse ecfifasior
C. JIIasR 111, 3rotor

D. aiferort V. €I$ &1 Jo

il 3w o1 fyseul 3 A At I gfom :

[Question ID = 10829][Question Description = 120_00_GP2_SEP22_S2_Q20]
1. A-1,B-1Il,C-1V,D-1l

[Option ID = 13313]

2. A-1l,B-1IV,C-1I,D-I
[Option ID = 13314]

3. A-NLB-IV,C-1,D-1I

[Option ID = 13315]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 13316]

16) If the letters in word 'POWERFUL' are rearranged as they appear in the order of English alphabet, then position of how
many letters will remain unchanged?

afe ' POWERFUL ' 91s5 3f 318RI @1 331 @3 3 Gol: 31 ST Si11 fp @ 3isyil auiaren 3 3, aa Rpdel 3s1grl @1 Ferrer smaf¥afea w8sm ?

[Question ID = 10830][Question Description = 121_00_GP2_SEP22_S2_Q21]
1. One
e

[Option ID = 13317]
2. Two
ar

[Option ID = 13318]
3. Three
citor

[Option ID = 13319]
4. More than three
citer 31 asiférm

[Option ID = 13320]

17) L 1
It 3.718 - D2589 then find the value of 0.0003718

1 - I .
b1 T 3718= 026898, TF Goggarig ©1 A aand|

[Question ID = 10831][Question Description = 122_00_GP2_SEP22_S2_Q22]
0.02689 [Option ID = 13321]

2689 [Option ID = 13322]

26.89 [Option ID = 13323]

268.9 [Option ID = 13324]

A WN -

18) Find the wrong term in the series given below:

15, 16, 22, 29, 45, 70,...



féu Tu srogayat 3 3TcId ug gar
15,16,22,29,45,70

[Question ID = 10832][Question Description = 123_00_GP2_SEP22_S2_Q23]
. 22 [Option ID = 13325]
70 [Option ID = 13326]
29 [Option ID = 13327]
16 [Option ID = 13328]

A W N -

19) A man has to cover a total distance of 24 km. He observed that after walking for one hour and 40 minutes, the distance
covered by him is 5/7 of the remaining distance. What was the speed of the man in km/hr?

o Afep B @et 24 el gi R Bl 3 cafep of Sxar e uop Her 3ii 40 fIore ao acrel @ a6, IAD GRI K 1 318 ¢l 9 ¢ft o1 5/7 & 3 wafep ot
a1fer 2p.3f1./ et &1 52 A el off ?

[Question ID = 10833][Question Description = 124_00_GP2_SEP22_S2_Q24]
7 [Option ID = 13329]
5 [Option ID = 13330]
6 [Option ID = 13331]
8 [Option ID = 13332]

A w N =

20) By how mich above the costshould the goods.be marked Tor sale, so that afier allowing a trade discount of 20% and a
1
cash discount of ﬁ; %, a net gain of 20% on the cost is made?

- — i~ 3 5 - Fut 5 1 o
TGS @] (Sl @ (Ig TTa & feearil Sffte @I 3idd @1 Wil Jied, it 20 % 1 R ge X 63 % F g ge o
& TIE, TG OT 20 % & Fem i s o g 2

[Question ID = 10834][Question Description = 125_00_GP2_SEP22_S2_Q25]
1. 60% above the cost
c1erd A 60 % sifers

[Option ID = 13333]
2. 40% above the cost
e A 40 % sifers

[Option ID = 13334]
3. 50% above the cost
cerd A 50 % sifeis

[Option ID = 13335]
4. 55% above the cost
e A 55 % siftrs

[Option ID = 13336]
21) In classical square of opposition, if 'No S is P' is given as true, then which of the following could be immediately inferred
from it?
A.'Some S is P' is undetermined
B.'All S is P' is false
C.'Some S is not P' is undetermined
D.'Some S is P' is false
E. 'Some S is not P' is true

Choose the correct answer from the options given below:

RdYer & a3l aof 3t Al A& @ w0 3 "B S, P ordl 3" Rew ok 3t 5313 Rraoififaet 3 3 BT IHToT ACDICT CTRIT SIT AT S ?
A.'ss S, P ¥, afbrerifea 3

B.'mf S, P ¥, smica 3

C.'ms S, P oidl ¥, afdreiifya 3



D.'s®S,PE", srcad
E.'@9 S,P &idl &, 313
offa fow are fraeul 3t 1 3t 302 ol :

[Question ID = 10835][Question Description = 126_00_GP2_SEP22_S2_Q26]
1. A, BandE only
Ddact A, B3z E

[Option ID = 13337]
2. B, Cand D only
dact B, C 3z D

[Option ID = 13338]
3. B, Dand E only
Ddact B, D sk E

[Option ID = 13339]
4. A, Band D only
Dact A, B siiz D

[Option ID = 13340]
22) An informal fallacy in which one moves carelessly from individual cases of a given class of persons or things to all the
members of that class is called:
A. Fallacy of Division
B. Fallacy of Converse accident
C. Fallacy of Slippery Slope
D. Fallacy of Accident
E. Hasty generalisation

Choose the correct answer from the options given below:

SeIIDIfY® dd Y RrR1d oI fep 3 o1e cafth srerar avq Adgg @ fafdrse aArerc A 39 gof & Asfl ARl dd Aol gdd @elr Sirdr 3 33 forweiferRaa
BT Sl 3 :

A. Rrsirstet &1 ad Sy

B. frclar A6t o1 ads S

C. fis3retol Yo Gellol BT a® gIT

D. =091 @7 a® Qg

E. oftg marro=fiaszor

offa o s1e frepeul 3i 21 A8t 392 ol :

[Question ID = 10836][Question Description = 127_00_GP2_SEP22_S2_Q27]
1. Band E only
@dact B iz E

[Option ID = 13341]
2. Conly
et C

[Option ID = 13342]
3. Eonly
Dact E

[Option ID = 13343]
4. CandE only
@dqct C 3k E

[Option ID = 13344]

23) Given below are two statements
Statement I: Analogical argument is a type of inductive argument.

Statement II: In an analogical argument, it is concluded that two entities alike in some respects, are therefore alike in some
other respect.



In light of the above statements, choose the most appropriate answer from the options given below

off< 31 @erel Ry s 3 :

DU - | : ATEQAYCTD D TB YDPR DI PIHICHD D 3

Dl - |l : ArRBIcID ab I s forcad formren sirar 3 15 @ el 3 A6l 31 avq BB 36 3t 3 ofl 131101 3
IWRfTD Derell B el 3, PrciiRad fraedl 3 A A YT IR ol

[Question ID = 10837][Question Description = 128_00_GP2_SEP22_S2_Q28]
1. Both Statement | and Statement Il are correct
@erol | 3z || Sl a1dt &

[Option ID = 13345]
2. Both Statement | and Statement Il are incorrect
@erot | 3liz || Seil st &

[Option ID = 13346]
3. Statement | is correct but Statement Il is incorrect
@erel | A8l 3, Afdvot dwerot || sreta 3

[Option ID = 13347]
4. Statement | is incorrect but Statement Il is correct
@erol | a1erd 3, Afdver weret |1 31 3

[Option ID = 13348]

24) Given below are two statements

Statement I: According to Classical Indian School of Logic, proof of a statement is given with the help of a syllogism.
Statement II: According to Classical Indian School of Logic, the thesis has to be mentioned thrice as a hypothesis, second as
an example and third as a conclusion.

In light of the above statements, choose the correct answer from the options given below

il Y weret G are 3 :
Dl - | : IRGRI HIRARI a® Ad D 3MGRIR bl Deret o1 Yav sarmara (Rieifsa) ol Jsrrar A far sirar 3

Do - |l : oI sRefl a8 Aa @ 3IGRIR, YfeIsi BT ook el 1R PRI SIIGl A9d &  Uscll Uf¥beUoll @ U 3, SIRI 3GI8VT B =4 3 3R dfierr
foreae @ u o

SWRITD DAl D 3MIellD 3, forForfeiRaa fqapeul 9 A 38l 32 ol :

[Question ID = 10838][Question Description = 129_00_GP2_SEP22_S2_Q29]
1. Both Statement | and Statement Il are true
e | 32 || et et &

[Option ID = 13349]

2. Both Statement | and Statement Il are false
ool | 32 || Slell srier &
[Option ID = 13350]

3. Statement | is true but Statement Il is false
ool | 3 8, afdpor werl || sRIer 3

[Option ID = 13351]
4. Statement | is false but Statement Il is true
Dol | 3RIcT 8, difdpor werat | 31 3

[Option ID = 13352]

25) According to classical Indian thinkers, in which of the following means of knowledge, we accept a fact or principle for
explaining an undeniable fact, which otherwise cannot be explained?

IR RI HIRAARI foraR®l @ 3reRIR fororfeiRad 3 2 sirel & P A1eret 3 331 3RASI A% B IR Dol D fére v ag srerar Rigia ol FdieRr wd &
fS1RIY 3161 Yab1R A ARSI o181 &Y SIt Abdl & ?

[Question ID = 10839][Question Description = 130_00_GP2_SEP22_S2_Q30]
1. Non-Cognition (Anupalabdhi )
Sopucifoer



[Option ID = 13353]
2. Comparision (Upamana)
3udTo

[Option ID = 13354]
3. Verbal Tesimony (Sabda)
916G

[Option ID = 13355]
4. Postulation (Arthapatti)
srerfufer

[Option ID = 13356]

26) Arrange the following computer memory types from the slowest to the fastest speed:
A. Main memory (RAM)

B. L2 Cache

C. Hard Disk

D. L1 Cache

E. CD-ROM

Choose the correct answer from the options given below

ol BRIes AAS B Yol B T el A FGA Aot kT B g A MY
A. gagza aanst (RAM)

B. L2 &ar

C. a1 Rrw

D.L1a&a

E.CD - ROM

it R a1u Riepedl 3 2 31 saz gel :

[Question ID = 10840][Question Description = 131_00_GP2_SEP22_S2_Q31]
E, C, A, B, D [Option ID = 13357]
E, C, A, D, B [Option ID = 13358]
B, D, A, C, E [Option ID = 13359]
C, E, B, A, D [Option ID = 13360]

)

A w N =

» By

27) With respect to telecommunications, which of the following forms of communication are synchronous?
A. Email

B. Instagram posts

C. Blogging

D. Telephone calls

E. Instant Messaging

Choose the correct answer from the options given below:

IR D e I forarfeiRad 3t IR o1 Dldl AT WU AADIRAD & ?
A.%-d

B. sempa die

C. sdiifsier

D. 2ferwlet wicat

E. $3¢c fSior

ot R o1e Riesedl 3t 3 218 302 gt :

[Question ID = 10841][Question Description = 132_00_GP2_SEP22_S2_Q32]
1. A, BandConly



28) Match List | with List Il

@dact A, B iz C
[Option ID = 13361]

. Dand E only

@Dact D 3z E
[Option ID = 13362]

. A, B,DandE only

Ddact A, B, D3l E
[Option ID = 13363]

. AB,C,DandE

A, B, C, DaE
[Option ID = 13364]

List | List Il

Computer Term Hardware/Software
/A. System Software |. Keyboard

B. Input Device Il. Pen Drive

C. Output Device 11l. Linux

D. Secondary Storage Device IV. Printer

Choose the correct answer from the options given below:

et -1 1 3 -l A AT Bifde :

aeht -l et -l

BRI orecTacht eTeral sifwcder
A. Braca 3iwcdRz I. Y - @rs

B. sorgc f¥arsa Il. et g15a

C. smseyce RBarga lll. errsoraat

D. AassHt ¥ Rarka IV. Ricz

offa) fou a1e fasedl 3 21 w8 3az gfere :

[Question ID = 10842][Question Description = 133_00_GP2_SEP22_S2_Q33]
A-1V,B-1,C-1ll, D- Il [Option ID = 13365]
A-11,B-1,C-1V,D-Ill [Option ID = 13366]
A-1lll,B-1V,C-1,D-Il[Option ID = 13367]
A-1I,B-1,C-1V,D-Il[Option ID = 13368]

A W N -

29)

megabytes per second? (1KB=1024 Bytes)

A movie requires 16 gigabytes of storage. How long will it take to download this movie, if the download speed is 64

uep Jdl 3RS 3 16 sfierarsc seE adl 3 Afe sherclls FUls 64 denarse gfer Ams 3 dl, 33 Jdl DI SISelclls lol 3 fpdotn 13RI ceien ? (1KB =
1024 argear )

[Question ID = 10843][Question Description = 134_00_GP2_SEP22_S2_Q34]

1.

30) Consider the following incomplete sentences about printers:

A laser printer is a type of

64 seconds
64 JBs

[Option ID = 13369]

. 128 seconds

128 Jwps
[Option ID = 13370]

. 256 seconds

256 Aws

[Option ID = 13371]
512 seconds
512 Jws

[Option ID = 13372]

printer. It produces
printer can produce carbon copies because the print head makes contact with the paper.

quality printouts and uses

to print onto paper. A



Identify the correct order to fill in the blank spaces using words from the list below ( A-D )
A. High

B. Dot Matrix

C. Non-impact

D. Toner

Choose the correct answer from the options given below

fee @ @R 3 forgot 3re} ararll U faR &3 :

U e fYjee goR oI e 3 a8 SuIadIguf ftjcanrsc formrerdr & ik wRIsI iR suré @ fie DI PRIBI DI 3 TP
__ e ordo ol formrerar 3 ariifs s3I ftje 35 wee @ dAud i wBar 3

fRroiftRad (A - D) 3 2 frep zerreil &1 gff & Rre 9redl & A&l ayat ) usarer HIRE -

A. 3z

B. Sic diRkaat

C. sifet - s3Iac

D. dlor

offa fou are frepeul 3 3 21dY 3= 9ol :

[Question ID = 10844][Question Description = 135_00_GP2_SEP22_S2_Q35]
B, A, D, C [Option ID = 13373]
. C, D, A, B [Option ID = 13374]
. A, B, C, D [Option ID = 13375]
. C, A, D, B [Option ID = 13376]

A W N -

31) A 20 dB increase in noise level represents an enhancement in intensity of sound by a factor of

=il ofk & ¥z 3 20 3Rwer b1 gfig eafor 3 digar & = I gfis B} forgot spurics 3 gorfar 3 -

[Question ID = 10845][Question Description = 136_00_GP2_SEP22_S2_Q36]
2 [Option ID = 13377]

5 [Option ID = 13378]

100 [Option ID = 13379]

20 [Option ID = 13380]

AW N =

32) An earthquake in magnitude on the Richter scale in the range 7-7.3, is termed as

f¥acz s ur 7 - 7.3 AT DI wb YU fordol 3u A ufsiitr siar &

[Question ID = 10846][Question Description = 137_00_GP2_SEP22_S2_Q37]
1. destructive
farommoremrst

[Option ID = 13381]
2. ruinous
fredard

[Option ID = 13382]
3. disatrous
3retefprst

[Option ID = 13383]
4. catastrophic
IRIDI

[Option ID = 13384]

33) Given below are two statements
Statement I: Dioxins are chlorinated compounds.
Statement Il: Dioxins cause deaths of birds and other stray animals due to their widespread use as herbicides and pesticides.

In light of the above statements, choose the correct answer from the options given below



il Y erol feu a1e 3 :

ol - | : srEsiifrie adif¥orsAIRe &

@l - |l : 3rEsiifdRiel or@oIIrdl 3ii DlcolIrdl @ WU 3 RIMud YIRT A UfdrIl i crarf¥ SiroraR] o1 Jeg BT PRI &
IWRITP el B Il 3 forarfeaa frascul 3 3 A8l 30z gol :

[Question ID = 10847][Question Description = 138_00_GP2_SEP22_S2_Q38]
1. Both Statement | and Statement Il are true
el | 3z || el s &

[Option ID = 13385]
2. Both Statement | and Statement Il are false
el | 32 || el srieer &

[Option ID = 13386]
3. Statement | is true but Statement Il is false
el | 3 2, Afdpor werol | sRIer 3

[Option ID = 13387]
4. Statement | is false but Statement Il is true
@l | 3RIcT 8, difdpor werat || 31 3

[Option ID = 13388]

34) 'Joint Implementation' was one of the mechanisms suggested in meeting the objectives of

o1 A13diciol @ I29dl 3 ' IYTP PRIfoaRIol ' U JFIRI SR Yo a1 ?

[Question ID = 10848][Question Description = 139_00_GP2_SEP22_S2_Q39]
1. Agenda 21
woist 21
[Option ID = 13389]
2. Montreal Protocol
ifeerer Qicimicr
[Option ID = 13390]
3. Kyoto Protocol
Cuievivceaet

[Option ID = 13391]
4. Paris Agreement
AR Jsian

[Option ID = 13392]

35) Which of the following ststements are true about the International Solar Alliance?
A. It was founded in 2012.

B. India is one of the founding countries.

C. Its headquarters are in Geneva.

D. It was signed by over 100 countries.

E. Mostly sunshine countries are members of this alliance.

Choose the correct answer from the options given below:

forgotferRaa 3 dlel A werol sidaRivdRI Hi? s1odtol @& aR d A8 & ?
sar<hl Femgent 2012 31 gf ot

A.

B. sid s Jzenud 391 i A v 3

C. ST HTHAICH Stordr i 3

D. @1z 100 A o siferes Sl g1 sFansifya 3
E.

HI? IUCTeLIAT daId SRIGIAR $9I $3 SIodeIol @ AGITA 3



il fou a1e fraseul 9 2 W& 3= goi ¢

[Question ID = 10849][Question Description = 140_00_GP2_SEP22_S2_Q40]

1. A, Cand D only
Ddact A, C 3z D

[Option ID = 13393]
2. A, DandE only

dact A, D sik E

[Option ID = 13394]
3. B, Cand D only
@act B, C 3z D

[Option ID = 13395]
4. B, D and E only

@act B, D aiz E
[Option ID = 13396]

36) According to the UGC (Credit Framework for Online Learning Courses through SWAYAM), 2021, upto what percentage of
total course credits in a particular programme in a semester can be offered through online courses?

Isft2ft (SWAYAM gi1=1 siforeniset 3if2ere argerapsil @ fore & feeuyan) 2021 & srepaar fp=fl fadiy gieper & fére ues 1) 3 @getr orf @ Bew1 fbaa
gferord b sifolesol dIRkf gRI yzaifdd i s Jwar 3 ?

[Question ID = 10850][Question Description = 141_00_GP2_SEP22_S2_Q41]
. 25% [Option ID = 13397]
. 40% [Option ID = 13398]
. 50% [Option ID = 13399]
. 45% [Option ID = 13400]

A W N -

37) With reference to intake of Indian students, an Institution of Eminence can admit foreign students additionally, up to the
extent of

HIRARI BIG] Y gaor gfepn @ s 3 oI creer yfeiftsa izaret @ fpaa gfdrera ao fgofl gl o) yaer ¢ JAwar 3?

[Question ID = 10851][Question Description = 142_00_GP2_SEP22_S2_Q42]
20% [Option ID = 13401]
25% [Option ID = 13402]
30% [Option ID = 13403]
35% [Option ID = 13404]

AW N =

38) Value education is about promoting

. equality and social justice

. national cohesion and democratic citizenship
. rich cultural and spiritual heritage

. religious practices and beliefs

m o O W »

. sound moral and ethical principles

Choose the correct answer from the options given below:

Feauras ren e an 3 Qicenida ol 3?7
A. F1areien iz ArAIID oART

B. ¢l AAfp sz cllasdifefas ore1fasdr
C. A1 g ARG AR snefedd foRRIa
D. enfdfe gend siiz ferearet

E. 3ca diferes 3ii? ofifeera Rrgia

offax 3w s1e frepeul 3f 3 18t 392 9ol :



[Question ID = 10852][Question Description = 143_00_GP2_SEP22_S2_Q43]
1. B, C, D and E only
dact B, C, D3R E

[Option ID = 13405]
2. A, B, CandE only
@dact A, B, C3lR E
[Option ID = 13406]
3. C,DandEonly
@act C, D3R E

[Option ID = 13407]
4. A, BandE only
@act A, B3k E

[Option ID = 13408]

39) Who is the Chairperson of the Excecutive Council in a Government University?

fopft Jrsrcdbien farafdencrn & driGE uf¥ug o1 sieast wlol alar 37

[Question ID = 10853][Question Description = 144_00_GP2_SEP22_S2_Q44]
1. Vice Chancellor
Qetufer

=)

[Option ID = 13409]
2. Visitor's nominee
fafSte? g1 onfdra Acx=r

[Option ID = 13410]
3. Chancellor
qenfefer

=)

[Option ID = 13411]
4. Secretary Higher Education Department
Jfera, ca foren fasst

[Option ID = 13412]

40) Given below are two statements
Statement I: Pitroda Commission recommended setting up 1500 universities in India to avoid stagnation in Higher Education.

Statement Il: To address the problem of low enrolment in higher education in India, Indira Gandhi National Open Universities
was set up in 1975.

In light of the above statements, choose the most appropriate answer from the options given below

off<l Gl Derel fGu s 3 :

@l - | : s1ra 3 3 fArgi 3 siferRIer ©Y g3 wel @ forg et siriier of 1500 faeafdemneril 1 Femuenr oI Rrwifyer bt

@l - Il : ura i sea {91811 3 3rcu sl b HAIRAT DI g2 Dol D fere 1975 31 siear anieht IsdRa b frralerener o Femuon bl o1
IWRETD el @ 3l 3, forarfeRaa fraseal 3 21 JeRt U 3= ol :

[Question ID = 10854][Question Description = 145_00_GP2_SEP22_S2_Q45]
1. Both Statement | and Statement Il are correct
Dol | 3R || Sreil 3t &

[Option ID = 13413]
2. Both Statement | and Statement Il are incorrect
@l | 3R || Slall sreta &

[Option ID = 13414]
3. Statement | is correct but Statement Il is incorrect
el | 3ét 8, fbog mert |l s 8

[Option ID = 13415]
4. Statement | is incorrect but Statement Il is correct
el | arer 8, fipog et || 2wt 8

[Option ID = 13416]



Topic:- GP_UGCNET_20SEPT22_SH1_S2_PartC

1) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised “as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

foraotferRaa srerior @l Arasmell A ud 3iiz 3y s1e gl & Iar &

forra Farre JHs1o61 (Sec3 v 3il) @ SORIR, ARy YoYUl BIfolPR® $isiel Ud &gIure] SI 361 dffad rar-ed Sif3qdl 3 3@ deroflkl 3 3 " el
Farea & e v A a31 wiiaeviln daer” el Siidr 3 fara Fare Fsroel @ fonfordor Sit wieloll U A areAmIst oidl 3 3l Rioidr 339a
oiifer forarfasii, amrcra @ol arcl Al siiz Rignfic @ fore Jcs @ wu 9 3, FarReA UR YHE Siclel drd 3 8. ggudl : Ul war 2.5 siiz Ul war
10 @ ¥ 3 =1 faferp ugrel siisilol, olisgisiol SIE3HIARIES, AcH SEIHIaRIES AR P HlsisifaAss &l e Aigasii oI forerdor wxdl 3
A fConforder camuam Siotal @I Sfidot 9icfl sl samuR fawedl @ aR 3 ATl it ¢ ADA 3- AIB A8 DR 3R ¢d Tclell B, BF DI forucrel dIell
31, 3iENP1s DRI 3rerar ity 3 PRI D6l 81 Socy T 31 Dadl & b ar] YgUUI DT IR dAleld STfold JId HislIfeiad WU A 3IcTdI 3IcdT 8l ADAI 3
Afdvor 3 Holl den uf¥aser &I ae afdrese S Ferd iz a3 A WIoll Jolloll el Htfibur onfdicr 3 330l clsll @1 Adlls & 6 sraal Sfider
diferil 31 uf¥acer @z - ol SRexd B DR, $olol oISl AcIdR | VA TellfIcd RBIRADI 3ida: caol 3l ADAI 3 DI WINPT BID 3T U dcIdR, dBD
TCIID? Al DRI Ferel ad ugdd @ fere Ardsifore uf¥asst @I IURIPI @2 UGl ABICI6l DI

s il fopar St aifde 6 "arRy yguur & @Rul, dad Al dal &l ARIeA yfpar 3 7 Biferrar deil &t gfer ad g ekt 3 faea ar 3 gRi:
JRI® Afth aRf Yglul & 3Ravad: FRI A ISR 3iar 3" fora rarea Hsroel of @al 8, aR] YgHUI Pl SIferdR® Farred guId foFelar Farl
U3 9% Bldrl 3 ORI uacl @il e o18l srRm & A1 & s3el 15 aul d sruoll ary sypuradr fSen-fordorl I usedl ot 3 ofifer forafarsil siiz smar
SIoIdl @ fo1e uep orn irerss forerifya fioen 8 secyg war 3it &t Rrwifon o siferr sioreit & IR A, JeaR PRI vd fasier of #Ara Farea uz
B8 YA ar] Ygudl @ aR 3 dfad ardiz ot 1w o2 3ar 3 wolfl & sigpar, fra @ 90% et usdl A & 3o Sigi 3 @d 3 Ko fadw u A
@ I BH UD FIOIPRD YBR BT YD 3

Why are the WHO guidelines on air pollution not binding on member states?

fered Farrern Js1661 B AR YgHuI el fEor fordor Aea=1 el uz dreaa3t azil o1él & ?

[Question ID = 10855][Question Description = 146_00_GP2_SEP22_S2_Q46]
1. Not all countries are WHO members.
sft Sor Socey v SNt D AGH oidl 3

[Option ID = 13417]
2. Air pollution is still not a serious problem.
ary ygur 3isft eft sisfle Jeren ot 3

[Option ID = 13418]
3. Guidelines do not have legal sanctity.
fomfordelt bt wrofoll AreIAT oidt 3

[Option ID = 13419]
4. The guidelines lack scientific validation.
fSonfordelt 9t dsmfora Jerar o1 woft 3

[Option ID = 13420]



2)

Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised "as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forgotferRac sterior ol Araemsil A ug iz 3w are geil @ a2 &

fora Fare IsI6d (Socy Ud 3Ml) @ 3eRIR, AR YGHUI SIfolbRM™ $iisiol Ud FUIG S 3o dffad Fared SlRadl A 3M deleiRkl & 31 " ol
Fared @ fore v A« 931 wRIiarvilr Fan” el Ssiar 3 fara Fare Jeroer @ f3enfordor Sit wigpell U 3 areadrl ol 3 sk frermr 3T
ofifer forarfansii, aorera wor arcr gl iz Pignfict & fore Jics @& wu 3 3, Farea Uz Yua Sicrol ard s 8 ggu! © Ul war 2.5 sz of va
10 @& ¥»u 3 =i faferp ugrel siiSilol, olsgIsiol SIE3IIaRIES, AcH SIE3HiaAIsS AR P Hlelsifass &l srglHcT Aigasii oI forerdzor ol 3
3 fonferder =muwm Sierar ol Sfidel el iz IR fwcul @& ar A Acor o ¢ ADd 3- a1 A PR AR TP IcIloll 3, B3 DI foraeral Bl
31, 3iENRI DRI 3rerar ity 3 PRI D6l 81 Socy, T 31 Dadl & [ ar] YgUUT DT IR Aleld Sifold IJUd HislIferad WU A IcT3 3IcidT 8l ADAT 3
Afdpor saa Hoif aenm uf¥aser & dem srufdree s Feret iz a2 A rel doflonm denm Sedfiaseur onfdrer 3 $3a1 clsil @ Acis & &5 3ol Shtdor
giferzil 3 uf¥ader @2 - 6l SR D DR, FoI6l oldl ACIDR ;| VA Tenl¥cd RPRIDI ida: Saol 31 ADI & DI IWRIIPT BID AR U AAD, ABD
IR Al DRI Ferel ab ugdad d e Ardsifere uf¥ass @I IURIPI @2 UGl APICI6l DI

5 ollc fopen Sion aifde fop "arR] yguur @ BRI, ddd A clol &t AEAen gfigrn 3 7 fiferier dell &t gfer ad gy a1t 3 farea e 3 gr:
JRI® Afth dR] YglUT & 3Raead: w1 A ISR 31 &' fora Farea HsTodl of ®al 8, aR] YgHUI P SIferpRe® Fareed guId foelar TRl
U? 9 BIdl 3 O usct wuft Aran ofdl o 3 ATer & st 15 auf A e ary spuradr Ren-fordent Bt uscht Siort # ofifer forarfarsit siie sma
Sloldl @ [T uab oRI AeIcs forerff¥e fipar 8 soc3y war 3il I RIwIfyoll @ sifera Sieiort @ FrI A, d8aR foPRIell wd fsilel of dAlold FAREA U
B8 YA arg Ygidl @ aR 3 dfae aedik of Are o R 8 weifl @ SR, fra @ 90% oiier usar A 3t Jof §iqi ¥ a8 Rrewdl fadw wu A
DI A DA TD BHIPRD YDR DI Ygud &

What is the WHO reference for policy makers?

siifer forariasii @ fere secy war 3N oo = 3 ?

[Question ID = 10856][Question Description = 147_00_GP2_SEP22_S2_Q47]
1. Reduce the ozone level

3ilsilel I DY Dl Dol

[Option ID = 13421]
2. Promote advocacy groups



qaIcTd dol drcl @l P Aaelor ol
[Option ID = 13422]

3. Threshold concentration of identified pollutants
3IfrsIe YUl bl 3IRfdrd Aigar
[Option ID = 13423]

4. Focus on all types of health risks
A8l gooR D Fare SRadl W erol Bie Mol
[Option ID = 13424]

3) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised “as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqo, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forgotferRae sterior ol Araemeil A ug iz 3w are geil @ a2

fora Farre HeIcol (Secy U 3iI) B 3HofAR, dRJ YSHUI BlicidR® HISlol Ud ggUlel S 316w dffad Fdarred Siiadl A 314 defoilkl 8 33 " dleld
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A fenforger o Siotdr @l Siidol dicil 3k caaR fawcdl @ aiRk 3 gl 3ft ¢ ADA 3- a1’ Az DR iR B acloN B, B DI forucrel ol
31, 3IENRI DRI 3rerar it 3 PRI DIl 81 Socy T 31 Dadl & [ arY YGUUI DT IR dAleld STfold IUd HIsTIfeiad WU A ¢T3l 3IcdT 8l ADAT 3
Afdbor 3 Holl den uf¥aser &I aer afdrese S Ferd 3z a3 A WIoll Jollell a2l Htfimur onfdicr 3 s3al cllsll @I Aars & 6 sraal Sfider
diferit 3t uf¥ader @2 - el SRRA D DR, Tdl oIl acD2 ; WA welcd RBRIGT 3iad: ol & APl 3 DI IURAPT BID IR Usd AcTDR, TSD
TCIID? Al DRI Ferel ab ugdd @ e Ardsifere uf¥ass @I IURIPI @2 UGl ABICIl DI

s ollc fopar siren aifde 6 "ary yguur @ oRuI, dad AR dal &l ARIeA yipar 3 7 Biferiar dieil &t gfer ad g ekt 3 faea ar 3 gRi:
JR® Afth dR] YgluT & 3Ravad: FRI A ISR 3iar 3" fora Fare HsTodl of ®al 8, ar] YgHUI Pl SIferdR® Farred guId foeiar Farl
R 9 Bidr 3 O usct it ke ofdl o 3 ATer & st 15 auf d el ary spuraar Ren-frdent &t uscll Siorert # Sfifer forarfarsit siie sma
SToldl @ o1 U oRIT ATelgs forerifyda fopam 8 Secy war 3il i Riwifoll @ 3iferd Siorpst @ AR A, JaaR foPRIol wd el of Aol FaRe U
88 Y drg YgHdl @ aR I dPae ardlk o 1w @2 1 3 wohfl & sigar, frea @& 90% et usa A & 3a §igi 3 8a 3 Ko 9w a2
D A DA TP BHIPRD YPR DI Ygud 3

The WHO advice to the public is:
3IT3 SIGICH Y S6cy T 31t I IeTIE & :

[Question ID = 10857][Question Description = 148_00_GP2_SEP22_S2_Q48]
1. Identify the sources of air pollution

AR YGuUI D Il Pl usdlel Dol

[Option ID = 13425]
2. Change lifestyles

Shiqer dictt 3 uf¥ador won

[Option ID = 13426]
3. Stay indoor as much as possible



IR T3 I I
[Option ID = 13427]

4. Incinerate plastic waste
et 3mufde ®l Siell &

[Option ID = 13428]

4) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised "as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM2.5 and PMqg, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forsctferR3ad sterior @ Aratmell A ud siiz 0y s1g gl & Iaz
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31, 31N BRI srerar Gfty 3 BRI ol A Soce T 31 Dadl 3 b ARy YgHUT T #3 Al SIford e HidNferds U A 3IerdT 3IeToT 8l ADI &
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diferit 31 uf¥acel @z - ol SReed B DR, Folol oISl TclidR | VA Telll¥cd RPIADI 3idd: caol 3l ADI & DI IURNPT BID 3R Ucd dcIdR, dIZD
TCIID? Al DRI FeUel ddb ugdol @ fere Ardsiforn uf¥asst @I IURIIPI @2 UGl ABICIol DI

15 ollc fopen Siren a1fde fop "dR] gguur @ DRI, ddd AR clol &l A gfgen 3 7 fifermer cell &I gfer ad gy 3l 3 faea sr 3 g
gD Afth dr YguUl @ RAFAD 3R] A IGIRIA siar 3 fda Fared IHs166l of 8l 8, diJ YgHUI DI BIIPRE FARLA YHIA foldoriar FaRl
Uz 9 BIdI & ORI uscl @il e ol srem & Arer & 3ot 15 auf 3 sruehl ary spuradr feon-forsorl &t usell Siorprst 3 ofifer forarfanail sz smar
SIoldl @ fe1e U oRII ATelGs foreiifed fobam 8 Secy wer 3l i RIwifell @ 3ifeld SioldI3t @ A A, JaR foPRIoll wd fdsie of HAleld FAIFed U3
B8 YA arf Ygudl @ ar I dfac ardik ot 16 o2 & 3 ool & sigpar, fra @ 90% oot usdl A & 3o Sl 3 @d 3 Kot fadw u A
B 3 DA UD FIIPRD YBR BT Ygud 3

The measure adopted by the WHO to limit the air pollution is:

Soc3 T 3l EIRT aR] Yguvl &) Hf¥a ool @ fere Sor s wea 38:

[Question ID = 10858][Question Description = 149_00_GP2_SEP22_S2_Q49]
1. Present a global picture of air pollution
ar] yguur i dAfaed axdiz yga aon

[Option ID = 13429]
2. Take a serious view of air pollution
AR] YGUUI P! ssfldr 3 clolr

[Option ID = 13430]
3. Initiation of innovative practices
3Ifdrora DRl USRI @I 9RF ol

[Option ID = 13431]



4. Setting a new standard of air quality in its updated guidelines
3ol 3fEIidrd fonfordoll 3 ary bl VAT PI B ORIl HAlGID R DI

[Option ID = 13432]

5) Read the following passage and answer the five questions that follow

According to the World Health Organisation (WHO), air pollution is now comparable to other global health risks like unhealthy
diets and smoking tobacco. It is recognised "as the single biggest environmental threat to human health”. WHO guidelines,
which are not legally binding and intended as a reference for policymakers, advocacy groups and academics,
stipulate permissible concentrations of six pollutants known to have impacts on health: two types of particulate matter
known as PM25 and PMqg, as well as Ozone, Nitrogen dioxide, Sulphur dioxide and Carbon monoxide. The guidelines could
also send a message to the wider public about lifestyle and business choices - whether it is driving cars and trucks, disposing
of garbage, working in industrial jobs or farming. WHO says the main human-generated sources of air pollution can vary
geographically but include the energy and transportation sectors, as well as waste dumpsites and home cooking and heating.
It advised people to do their part by changing their lifestyles - not running car engines uselessly; avoiding use of plastics
that could end up being incinerated; and walking, riding bikes or using public transportation to get to work.

It should be noted that "because of air pollution, the simple act of breathing contributes to 7 million deaths a year. Almost
everyone around the world is exposed to unhealthy levels of air pollution”. The harmful health effects of air pollution kick in
at lower levels than previously thought, the World Health Organisation has said as it has set a new standard for policymakers
and the public in the first update of its air quality guidelines in 15 years. Since the last update of the WHO
recommendations, better monitoring and science have cleared up the global picture about the effects of six major air
pollutants on human health. According to the agency, 90% of the world's people already live in areas with at least one
particularly harmful type of pollutant.

forgotferfR3ae sterior ol Araensit A ue 3z v are gl @ a2 ¢
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The major inference to be drawn from the passage is:

I ST A P MMIRI G1 foraperar 37

[Question ID = 10859][Question Description = 150_00_GP2_SEP22_S2_Q50]
1. Do not ignore the harmful health effects of air pollution.
AR YGUUI B BIfGIDRD IArFe YgIdl bl 3US oldl ol

[Option ID = 13433]
2. People should change their business practices.
clioll @I 3ol BRf Bol B UGl aacroft aifae

[Option ID = 13434]
3. Policy makers can mitigate air pollution by their initiatives.
oftfer foratar sruoft uscll @ e 3 AR] YGUUI B B2 AD 3

[Option ID = 13435]
4. The WHO has updated its air quality guidelines often.
Soc) B 3l of 3[R AT J[urar Adeft sruol fSonfordell @ srerfer fipem &



[Option ID = 13436]






